Supports

nobil

Protect Your Systems

SPRING NUT BOLT HEX HEAD BOLT PAN HEAD
Size UP}
P1003 M10 i
P1010 M2 " 1 = < H=
Size ,_..-"J P e
MBx20 MEx20 %
MBx30 $ M8x20 =
Nut M10x20 } %
e =
M12x40
SPLINNED BOLT BOLT ROUND HEAD BOLT HEX HEAD
Size SQUARE NECK CONE POINT
AT Size Size = =
g M10x25 M1 040 -._I i
M12x40
.I M12x50 %
HEXAGON NUT TRUNKING NUTS COUNTERSUNK
HEAD SCREW

Size

i
NS
MI10

Bolt, Nut, Washer & Rod

O

SIZE
M6 x 15

For fixing of
M12 fittings and
accessories.
6 mm
SPRING WASHER HANGER ROD COUPLING NUT
““ffiiﬁ?ﬂiﬁ“" Thread Length
Size KM Size S
Size HR10D MI10 10.02 M10 30
HR12 M12 14.56 Miz 40

ME

M&
M1Q

FLAT WASHER

-

Standard Length :
1.0 M




